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And discredited witnesses — PRt QTN

OVERVIEW

X>°11 °27 includes 72m7 2°7Y as one of the P11 NaR 7"2. The rule by 7m7 @7V s, if
the accused was not punished (i.e. not put to death) yet [and the (7°"117) 27V were
discredited], we punish the 7n21r 27V with the same punishment they intended the
accused to receive. If however the falsely accused was actually punished (he was
put to death), the 11 07y are exempt from punishment.' It would seem that 07y
Tam1 are different from all the other 1°2°11 N1aX, for PnMIT 0°7Y are liable only when
they intended to do damage; but not when they actually damaged. It is therefore
questionable why X1 *21 includes P 07 with the other Pp°11 n1ax.> Our MmdoIN
seems to be addressing this difficulty.
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The R''2%9 explained that even if the falsely accused paid money on account of

the 3517 237w, the 1T 07V are liable to repay the falsely accused -
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For by monetary issues, the exclusionary rule of; ‘as he plotted, but not as he
did,’ does not apply, since there is the possibility of restoration.

mooIn offers an alternate view:
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And the 5" explains, this reasoning (of the X"27) is not necessary -
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' The ‘popular’ explanation is that we derive this from the (v°,0° [2°v9W] 2°7127) P105 which states 21 WK 17 NWN
"1 and we have the w7 of WY WX K71 0T WK (see *"wA on the P00 and later in this No0IN). However, there is
no such w17 (in the &7 nx). The 71wn in 1157 (on 2,77) states that the 1@ 07y are killed only after there was a 17 3,
but before the accused was killed, for the P05 states 1IRY MWyY nt WRD 12 an°wyy, which indicates that YR (the
accused) is 0P 7v. The X3 there challenges; if 13171 207 X9, then 107 should certainly be Paani! The Xna
responds that 1°77 11 7w PR (punishment cannot be meted out based [exclusively] on the logic of a 1"p).

2 Alternately (see w"w1), how can ¥"1 and the 0’1211 (shortly) argue whether 12111 27V are X171 or Xoip. It is obvious
that their payment is a 01p.

? This explains why X1 ' mentions 72V 2°7v, because in monetary matter 1) o7y are liable (even) if they
caused damage (i.e. the falsely accused paid 077’0 %v). See ‘Thinking it over’ # 4.

* See footnote # 1. This may be an easier way of referring to the rule.

> The rule limiting the liability of 17 ©°7v to a case of ant Twx> only, is when the 7wy IwX3 is irreversible, such as
in capital punishment. However, when the 1" 0*7v caused a monetary payment, where the monies can be returned
to the proper owner, this limitation of 7wy TwR> X7, does not apply.

® See 1" 891 71"7 8,2 MOOMN.

1
TosfosInEnglish.com



o A" 'n 2,7 P2 702

For by monetary issues we obligate the 1" 0>7v to pay utilizing a =% 9p, for
by monetary issues we do administer punishment based on the logic of a1"p.

mooIn resolves an anticipated difficulty:
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And that which the X773 states in n1o» noon, if 7'"2 executed the falsely accused,
the 721m11 077y are not executed; the reason for that, is because there (by capital

crimes) 7"°2 does not punish based on a Y''p. It is only by 1»n, where we maintain W
7
T .

SUMMARY

The X"27 and the °"1 agree that by 77 the 7111 0°7v are liable even if the accused
paid. The X"2°7 explains it because by money there is restitution. The >"9 explains
because by 11 we say 17 1 PR,

THINKING IT OVER
1. Why do we say 7wy WK 821 only by mws1 °1°7, but not by mnn °177?

2. Why do we say 1°77 12 1wv by n131n °1°7, but not by nws1 °1°7?
3. What are the differences between the X"2>7 and the °"1?
4. The X"27 answered that by 71mn it is not Twy WX K91, since it is 7712 woK.®

Seemingly the question still remains, for the 21°11 by 17 is only for the ant AWK,
which makes it different from all the other 2%, who pay for the actual damage!”

7 See “Thinking it over” # 2.
¥ See footnote # 3.
? See 121 1" TR, 10 DX 70,
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